FUBAG BS 6600 (258280)
| I |( ‘
HoMep KO KoJa (HOBBIC) HAMMCHOBAHHC Ko
/o BO
1 TD6120-C03-0100 100021274 KpBIIIKa TOTTMBHOTO ]
Oaka
2 | B057890006002570X | 100011268-0003 ot M6x25 4
3 91302-9065202500X | 100010439-0002 |  maiiba ©6.5x2xDH25 4
4 | TD6100-B98-09011E | 100021181-0001 OHOpHas IITa 1
TOIJIMBHOTO Oaka
5 TD6040-B93-0101 100021153 TOIJIUBHBIN KpaH 1
6 17020-KB01-0000 100005137 S@KHUM TOILTUBHOTO 1
IIIJ1IaHIra
7 | BO6177PE10000090X | 100011465-0002 raiika M10x1.25 4




KpenieHue

8 TD4112-B98-0500 100021004 aMOpTH3ATOpA 4
9 B06177P108000090X | 100011464-0002 raiika ¢gnanuesas M8 6
10 | BO5789E010004070X | 100011381-0002 oonT M10x1.25%x40 4
11 10001-L43-Z2FD028 He 371€eChb IBUraTENb 1
12 10008-9999-0400 100000657 XOMYT 1
13 TD1461-B98-0000 100018704 3arayLKka pe3suHOBas 1
14 TD1000-L38-1700 100018269 reHepaTop B cOope 1
15 B057890005001070X | 100011248-0003 dont M5x10 3
16 TD2511-C01-0000 100020093 KpbllWKa KapTepa 1
17 TD1120-B98-0000 100018476 ratika M5 2
18 | B0O00930005000000X | 100010885-0004 | 1uaiiba npyxunHas 5 2
19 | B0O009702050000MOX | 100010919-0002 watida O5 2
20 | B05789Q005021470E | 100011411-0001 boar M5%214 2
21 08216-9999-0000 100000563 nenrta L=85MM ]
22 | B057890005001470X | 100011250-0002 Gont M5x14 9
23 TD1411-B98-0000 100018571 KPOHLUTEHH 1
24 TD1421-B98-0000 100018595 LLIETOYHBIN y3en 1
25 B000960210000000X | 100010905-0001 watida 10 1
26 B000930010000000X | 100010888-0002 | waiida npyxuuxas ¢10 1
27 | BO5789E010026570X | 100011396-0001 dont M10x1.25%265 1
28 | TD4121-C01-0000 100021032 Kpo“mz)‘i;ii’;jym"om ]
29 | B061770106000090X | 100011452-0003 raiika pnaHuesas M6 11
30 18066-MB32-0100 100006938 NPOKJIAIKa Ty LWWHTES 1
31 B16674A008003270E | 100011553-0001 | 6onat ¢pmanuesblit M8x32 2
32 | B0O00930008000000X | 100010887-0004 | 1wiaiida npysxkuHHas O 2
33 18100-PB52-0600 100006986 TpyOa BBIXOIMHAS 1
34 18000-QC03-5500 100006234 rAy LKTeNb ]
35 B057890008001670X | 100011311-0005 Sont M8x16 4
36 TD5001-B98-0100 100021070 KPOHLUTEHH Ty LW UTENs 1
37 TD1431-C03-2300 100018616 PETYNSATOP HANpPSXKEHUs 1
38 B000930006000000X | 100010886-0004 | waiiba npyxxunHas O6 1
39 | B0009702060000M0X | 100010920-0002 waiida P6 1
40 B057890006017970X | 100011300-0002 Sonr M6x179 4
41 TD1441-B98- 100018661-0017 KpbILIKa 1

0000MW




42 B057890006001270X | 100011261-0004 donT M6x12 2
43 TD6007-B98-0000 100021127 3aryyuika pesuHoBas 2
TD2000-L38- , ,
44 SA00MW 100019063-0001 MaHeNb yNpaBieHus 1
45 TS2111-C16-0000 100022336 HOYKKH PE3HHOBbBIE 4
46 B008180006001220X | 100010964-0002 donT M6x12 4
47 | TD4113-C03-0000 100021017 KpermeHie 1
aMopTH3aTOpa
48 TD4208-H10-0000 100021042 3aryyuika pesuHoBas 4
TD4010-C03-
49 6200MW 100020202-0001 pama 1
Habop 1J1 TPAHCMOPTHPOBKU
HoMep Koa K0Ja (HOBEIC) HANMCHOBAHUC KO-
n/n BO
1 BO61770108000090H | 100011453-0003 raiika M8 2
2 B061770106000090X | 100011452-0003 raiika ¢anuesas M6 2
3 B16674A008001670H | 100011549-0002 donT M8x16 2
TD4012-H10- ~
4 0200MW 100020979-0005 0a3a NoANepPKKH .
5 TD4113-B98-0000 100021015 “perLieHHe
aMopTH3aTOopa 2
6 B057890006001870X | 100011265-0003 donT M6x18 9
7 B008820B16010000H | 100011064-0002 KpeH wTblps 16x100 2
8 TD4014-C05-1501 100020705-0001 KOJieco 2
9 TWC117-C27-0002 | 100023414-0001 npy:kuHa B 2
10 | BOO8820B0O8005500H | 100011051-0001 KpeH LuThbips 8%55 2
11 61182-QD03-0000 100009075 NoAy LuevKa 4
12 TD4019-C03-0000 100020741 3aryyuika pesuHoBas )
13 TWCI117-C27-0100 100023415-0001 npyxxuHa B 2
, TD4011-C03- .
14 090 1MW 100020959-0002 PyUKa Hakuma 5
15 TD4021-C03-0000 100020826 nopyyeHb 2




FUBAG BS 6600 (258280)
!
|
-
H(r);;/Il;?p KOJI KOJ1a (HOBBIC) HANUMEHOBAHUE KOJI-BO
1 17020-KB01-0000 100005137 3aKUM TOILJIMBHOTO MITAHTA 2
2 T2999904000800165 100017790  taHr TorBHbL G4xD8x165 1
3 24610-PB52-0000 100008165 kpommelE B cGope |
4 B057890006001270X | 100011261-0004 60n1TM6%12 g
5 24640-PB52-0000 100008428 pbryar ]
6 24602-PB52-0300 100007888 MpYKUHA ]
7 24604-PB52-0000 100007958 CBSI3b APOCCENbHAs _J
8 24603-MB30-0100 100007927 Py KUHA ]
9 24606-MB30-0000 100007989 UIMIAHT ]
10 T1105008001400400 100017631 caibHUK O8xD14x4 ]
11 91306-90800820X0E 100010518-0001 maiiba O8xd20x0.8 ]
12 24605-PB52-0100 100007980 BaJI IIECTEPHU 1
13 T1105035005200700 100017649 canbHUK P35xP52x7 2
14 B057890008003870X | 100011323-0001 oont M8x38 7
15 12301-PB52-0000 100003015 KpBbIIIKa KapTepa (JeBast) 1




16 14301-MB32-0000GS | 100004129-0003 Ly 1
17 24620-PB52-0100 100008305 pblyar nepeaay 1
18 90208-PB52-0200 100010160 NPOKJIAJKa KPbILIKH KapTepa 1
19 91521-08001200000 100010549 wrudt G812 2
20 91306-91600324X0E 100010521-0001 warbda G®16xP24x0.3 1
21 15100-QC84-0000 100004318 pacmpensain 1
22 92102-000006202P6 100010742 noawunHukK 6202-P6 2
23 92102-00000006207 100010682 noawunHuk 6207 1
24 13300-PB52-0000 100003998 OanaHCcUp 1
25 13230-QC84-0200 100003914 KOJIEHBa 1
26 12007-QC84-0000 100002731 KapTep 1
27 91103-MB30-0000 100010275 dont cnuBHOM M12%1.5%15 2
28 91302-91202020000 100010467 waiida P12x2x P20 2
29 10064-MB30-0000 100000676 3aKHM MPOBOAA 1
30 10008-9999-0100 100000655 XOMYT 1
31 87420-KB01-0000 100010040 JATYUK Macaa 1
32 81200-PB52-0100 100052137 MOAY b 3a:KUraHust 1
33 B057890006002870X 100011269-0003 Oont M6x28 2
34 82150-PB52-0000 100009563 MaXOBHK 1
35 19102-PB52-0300 100007035 BEHTUJIATOP OXJIaXKIEHUsI 1
36 21520-PB52-0400 100007562 yalka craprepa 1
37 B06177F116000090X | 100011460-0001 raitka M16x1.5 1
38 21500-PB52-D8012A 100029916-0004 crapTep py4HOH 1
39 21530-PB52-11002A 100007649-0006 KOPIy C BEHTUWJISITOpA 1
40 21510-PB50-00002A 100033253-0001 cTapTep py4Hoii 1
41 B057890006001070X 100011260-0005 Hont M6x10 3
42 B057890006001670X | 100011264-0003 dont M6x16 2
43 87400-MB30-0100 100010029 NaT4yuK Machnaa 1
44 13220-QD03-0000 100003458 WaTyH 1
45 13105-PB52-0000 100003225 naner NOpLUIHeBOH 2
46 13101-QC84-0000 100003100 NopUweHb 1
47 13102-PC83-0000 100003131 naJjel nopLHs 1
48 1310A-QC84-0000 100003264 KOMIJIEKT MOPLIHEBbIX KOJeLl 1
49 15002-MB30-0000 100004266 TOJIKaTelb 2
50 15701-QE88-0100 100004535 K1anaH BIIy CKHOM 1




51 15702-PB50-0000 100004555 KJIAIIaH BBIMY CKHOM 1
52 15321-PB52-0100 100004400 IIATYH 2
53 91521-12002000000 100010562 wrudT G12x20 2
54 9022B-QC84-0000 100010226 MPOKJIAAKA TOJOBKH LWIHHAPA 1
55 91138-KB03-0400 100010389 LWIMHJIbKA 2
56 81300-KB01-0000 100009379 cBeua 3axuranus F7TC 1
57 1122B-QC84-0100 100002413 royioBka OJI0Ka LIMJIMHPOB 1
58 91127-ND04-0000 100010373 wnuibka M6-8x104 2
59 17107-PB50-0100 100005569 npoKIanka kapOropaTopa 1
60 17112-QB60-0000 100005618 u30JTOp KapOtoparopa l
61 17182-QB60-0100 100005936 npoKIanka kapOropaTopa 1
62 1 7100-QL43-0200 100052092-0002 kapOropaTop 1
63 | 17183-MB30-0100 100005954 MPOKIAZKA GILTPa 1
BO3MY LLHOTO
64 12104-MB32-0100 100002860 LIJIaHT 1
65 16100-MB32-0000 100004719-0001 bunpTpa BO3AY LIHBII 1
66 | 16127-MB32-0000 100005014 °°”°Ba*$fﬂi‘;;§y tHoro 1
67 | 16101-MB32-0000 100004781 "'apr”fg:j;::;gw”m 1
68 16105-MB32-0000 100004862-0001 KpbILLIKA BO3AY LIHOTO (hUIbTPa 1
69 B061770106000090X | 100011452-0003 raiika M6 2
70 1122R-QD03-0200 100002470 oot M10x1.25%87 4
71 15406-MB30-0100 100004474 OCHOBAHWE KOPOMBICEJT 1
72 15705-MB30-0000 100004575 NPy KHUHA KJIaraHa 2
73 | 1572B-MB30-0000 100004602 YTUIOTHEHNE BIYCKHOTO 1
KJanaHa
74 15703-PB50-0000 100004570 MpY>KKHA KJIarnaHa 2
75 [5700-PB50-0000 100004516 MPYIKUHA KJIaraHa 2
76 15713-MB30-0000 100004589 KPBILIKA BO3IYLUHOTO (PHIBTpa 2
77 15707-PB50-0000 100004576 KJIamaH LaHTOBbII 4
78 15400-MB30-0100 100004426 ONI0K KOPOMBbBICET 2
79 15415-KB01-0000 100004496 LUTTHJIbKA KOPOMBbICTIA 2
80 15401-MB30-0000 100004443 KOPOMBICJIO 2
81 15403-KB01-0000 100004457 raiika peryJupoBOYHAs 2
82 15414-KB01-0000 100004488 KOHTpralika 2
83 90229-MB30-0000 100010183 NPOKJIAAKA KPbILIKH KJlanaHa 1




84 11221-MB30-0100 100002321 KPBILIKA MOJOBKH LUIUHAPOB
85 91132-MB30-00000X | 100031627-0001 wnunabka M6x61

86 19113-PB50-0000 100007097 KOXKY X

87 B057890006001070X | 100011260-0005 dont M6x10

88 17022-Z6H-0000 100005162 3awuTa TpyObl




